=200

iSiE]

17

19

=y

23

A N 7K X

4.11.18.25

5.12.19.26| 6.13.20.27 | 7.14.21.28 {1.8.15.22.29|2.9.16.23.30

S @5
o T =]

00 MCBZa1—R&Y ViEH'HD

15 BfebDIr& LER

3.10.17.24. 31

30 =BXFHE 30 BIEER
45 =BXFRRE
00 MCB=1—R&3BE Lz
15 {ToTHIVE |15 5U-cHERR |15 BEZALHZ1—Z[15 BHRI—IL
30 MRy —)L 30 =ErHeE 30 =ZEXTFHE 30 BLLL BEVEREEEY
45 =BXXFRE 45 =ETPHGE 45 =
00 fsfebDFH+r&LLER |00 MCBZa2—X 00 &)IIB%N=E
10 HERM [10 e AR 10 ®taxr d EPREEER
30 BUSTHERR |25 =Bxrrmks |30 32EezhEs |30 BUSTHESR
45 =BXFRE 35 =BUPHGE 45 =BXFHE
00 MEFALDZ1—Z mEFAGN=1—2] 00 SHEFHIE 00 7o CHEVE
15 BIEERN 15 BEFALAHZ1—R
30 =BT 30 5USTHERSE  [30 BFRU—I |30 BULL BEVEEEET|30 ToTHIENE
45 =BIFHEE
00 SHIFHYH 00 =tk LER 00 MCBZa2—2X
15 #eEBRI—)
30 3BELZRES |30 BLLLBEVLEET 30 BU-THES 30 IBELZHES
35 =E3FRER 45 =ETFRE 45 =BXFRE
00 MCB=a1—ZR&BTHFREVIR
15 EARR 15 Ao THOVE |15 #FRT—)L
30 =BXCFRE
45 =BXXFHE
00 MCB=1—R&HVEliHHD
15 FHHEERN 15 b nDHKELER 15 MEFALGHNZ1—R
30 o THENE 30 5USTHERS 30 =BXFHX
45 =BT
00 MEFABH =2~ 00 EEFAGN=2—2]00 EHZEA SBIFHVE 00 &) ||E415
15 #hRT—)L 15 {ToCHIEVE EHFEERR
30 3BT LZEHHS 30 3BELZEHHS 30 BLLL BEWVEET| 30 =B FRGX
35 =EFHEE 35 =B 45 =BT
00 MCB=1—R&HBTHUFFEYHIR
15 @lreb0HELIE |15 5U>CHEES |15 7>CHEVE |15 Sbview |15 5U-CEES #EpR T — )L
30 =BT
45 =BYFHE 45 =ExrFmsE
TavTFrrRIV
00 BUSTHER 00 FHHEZER BEERN 00 SHIFHYE
15 BUSTHEXR T THEVE
30 =EXFHOE 30 RN 30 =BXFHE 30 SBE Lz
45 =BXFRIE 35 =BT
00 MCBZ1—R&BTHIFREYIR
15 #hRo—Ib 15 BLLLBEVEREES 15 ffebDHELER | 15170 CHEVE
30 > THENE 30 =E8XFHEE 30 =EXFHEX 30 FHERN
45 =BT 45 =BXFRHEE 45 =BXFRE
00 MCB=a—XR&Y i H D
15 MCBZ2—X (g1HS)
30 BLLWBEWREREEET| 30 55T LTS MCB=a1—X @IES)
45 =BXFMEE 35 =EYFHGE =B
00 MCB=21—2X [ =232 70-88-110 1985~ (LEHED) |
10 HEEN 10 BEFALA=I—R[10 #hRY—IL 10 BUSTHES
25 3BE LRSS
30 =BXXFRE 40 =BT 45 ZBXTRHGE
00 MCBZ1—R&FTHIFFEYIR 00 5 5MF#&ELER |00 MCBZ2—R&BTHIFFEWIR 00 BAhRY—)L
15 EEFAGHZI—R 15 EEFAGN=2—2R|15 #mpRo—)L 15 FoCHIEVE 15 BU>cHES
30 =@ 30 5USTHERS |30 3BELTFHS
45 ZEXTFHRE 45 =EBTFMEE 35 =EFHGE 45 =ETFHEE
00 MCB=a—X&Yi#ih Hhib
15 #hzo—)L [15 MCB=2—Z @1E%) 15 HHARA
30 =BXFRGE 30 MCB=2—2Z (B1A%)
45 =ETPHGE
00 HHEZEA 00 SHIFHYE
15 SRIEHYE 15 HHEEN 15 BLLL BEVEEEST 15 @tz bDF& LR
30 BFPRY—IL 30 7o CHEVE 30 ToTHEVE
45 =B FHE
00 MCB=2—X
10 MCBZz2—X (R1H%S)
e 30 MCB=2—2 (R1B%) 30 BLLL bS]
45 =BXFREE




